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The Extreme Downhill Company

Michele Taggart is in charge of manufacturing operations at the Extreme Downhill Company (EDC), which makes snowboards and skis. Michele needs to decide how many sets of skis and how many snowboards to make this week.

In the EDC factory, there is a molding machine, which is used to form skis and snowboards using plastic and metal. The molding machine takes three hours to make 100 pairs of skis, or it can make 100 snowboards in two hours.

The factory also has a cutting machine, which is used to sharpen the edges on the products so they are ready to use. The cutting machine can process 100 pairs of skis in an hour, or it can do 100 snowboards in three hours.

Every snowboard and set of skis has to be loaded into the customized EDC delivery van as soon as it is finished in the factory, because there is no room in the factory to store any of the finished products. The van gets loaded up all week long and then Jason Brown, the driver, makes one trip on Saturday to make deliveries. Jason is fairly lazy; he won't make more than one trip per week.

EDC makes $40 for every snowboard it sells, and $60 for every pair of skis. Michele wants to make sure she chooses the right mix of the two products so as to make the most money for her company, but she is limited by the following factors:

1. There are only two people who know how to operate the molding machine: Nick Conte and Dave Downing. Michele has it worked out with them so that Nick works in the daytime, and Dave works at night, so between them they keep the machine running most of the time. But even so, the molding machine is only running 115.5 hours every week, which limits the number of products EDC can make in a week. 

2. The cutting machine is really on loan from the Brandon-Olofsson Company, and Michele only gets to use it 51 hours per week. This also limits the number of skis and snowboards she can make.

3. The van has a capacity of 48 cubic meters. 100 snowboards take up one cubic meter, and 100 sets of skis take up two cubic meters. Michele has no choice but to use Jason as the driver (it's his van) and so there isn't any point in making more products in a week than can fit into the van.

4. Finally, Michele knows from experience that snowboarding is a relatively new sport, and it is very hard for cool snowboarders to convince their fossilized parents to buy them the equipment they need. She has decided that she will never make more than 1,600 snowboards per week, because she won't be able to sell any more than that.

Your assignment:

1. Figure out how many snowboards and skis Michele ought to plan on making this week. How much money will EDC make if she uses your plan?

2. Check to be sure that your plan doesn't require any more than 

· 115.5 hours on the molding machine

· 51 hours on the cutting machine

· 48 cubic meters in the van

· 1600 snowboards to be made

3. Can you figure out any way to make more money for EDC by making fewer of one product and more of the other product? Try to find the production plan that will make the most money.

4. Be prepared to talk about how you did it.
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